R:\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\DR-685 Sliding Vinyl Doors\C - Drawings\2018 IBC UPDATE\TX-4323-24.dwg, TX-4324

EVALUATED FOR USE IN THE STATE OF TEXAS

™

WINDOWS & DOORS ™

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Sliding Patio Door
"IMPACT"

TDI DR-685

The Wincore Fixed Window described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond roof covering.

When used in areas requiring wind-borne debris protection, this product complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC and does not
require impact protection. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevations, design pressures and general notes

2 Horizontal and vertical cross sections
3 Bill of materials, glazing details & components

141" MAX. OVERALL FRAME WIDTH

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

8800 SERIES VINYL
SLIDING PATIO DOORS

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

141" x 96"

48" X 91.5" | 41.63"X85.63"| GI1

48" MAX. PANEL
WIDTH
41.63" MAX.D.L.O.
WIDTH
4 / /
4// 4// Vi
/ / /
&
o =
s 80
: £ T
g m O
—_ Z —
Z & o X O
o= 3
<
5 3 = l]:
: & 8
=
/ / /
V4 s a4
/ / /
P e e g — 2
L Water Bar Required

1/21/20 |UPDATE TO 2018 IBC/IRC

NO) DATE

1

REVISIONS

oaTE: 7/9/13

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4324

SHEET ] oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



TONG SANVLIINSNOD aNIQTNg "My 102 @)

2S8L1~d # NOLVMISIONY 40 ILVOLILNTO SNOISIAZY

SHIANIONI TYNOISSIJO¥d 40 Quvos SvxEL zo#%mwwwwoo%o A8 J1vd [ONfm 5_

L6L6°BS9°ELE FON SUOYG . Sq7 QuI/081 810z 0L 3vadn| 0z/iz/L] t | |N|% 2 X
$6SES "4 OdMIDA OFZ Xog 'O'd \Sg@o ATGN3SSY ¥0 1dvd <= 1. D &
"ONI ‘SINVLINSNOD ONIGUNG NG g | 2_

S¥00Q OlLYd ONIAIS Ml & &]|e X
CZTLYOLE "3'd SvXaL Gt e|E ]
‘F'd WPIWYSS ‘4 UOPUAT  :Ag peupdeud sjuBWINDOQ ) 1onaoNd W m x M w W._

A Soee

\ x % :o“%. e

«...w@ QW“.... Aﬁ ‘%**1%
- +5 UG

JW-: *eeerener?
g 305

B

s - (@)

SHEATHING

EXT

/ DRYWALL

/2 "\ HORIZONTAL CROSS SECTION
W Shown w/ optional strap anchor

3 1 [ ]
ot :
<
o
M~
&N
M W N 4 —
z £ .l ©
o 0 0 B mNu
. (= ﬁ G
5 , 7] o]
D ) ). E : § m
, © I [ o
T Jo @ 2
. Q
7 - = N ™ ac
>
mz
o | &

-

EXT.

SHEATHING

22 BMpyz-€zer-X1\ILYAdN D81 8L02\sBumelq - S\s100q JAuIA Buipls $89-¥@\sioog ssein Buipls\su| Jo 1daq sexa] - G\LNINYINYId 2I09UIM\SIUBIDNY



‘ONI SINVLINSGNDD SNIGTINg "MW ELDZ @

Z6BLL—d # NOLVMISIONN 40 IUVOLILNID SNOISIAZY

SYIINIONI VNOISSEIONd 40 a¥voa SVXIL mzom%wmmw\m,omo Ad ALvA [ON| 5_

L6LE'6S9°EL8 FON SUOUQ . S O¥l/081 810z 0L 3vadn| 0z/ie/i] | || W|X 2 3
G6GEEC "4 OOHIDA OSZ Xod 'O'd Eg "ATEGWISSY HO Ldvd <= - . “ &
*ONI 'SINVLINSNOD ONIaTNG ﬂ < m | 3_

SY00Q OlLYd ONIANS Ml 1B Elg &
$ZLPOLF "3'd SvXaL Gl Yl o g G
"A'd IPILYDS 'd UOPUAT  :Ag pespdeud syusLunoog TonaoYd m m x m m %

ARV

CONCRETE

3"\ VERTICAL CROSS SECTION
w Shown w/ optional strap anchor

INTERIOR

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PS)
WOOD (SG >= 0.42)

—®
/‘ DRYWALL
= (31
—2)
@
\®

SHEATHING

EXTERIOR

INTERIOR

RIS

/"2 "\ VERTICAL CROSS SECTION

— =7
=2S
[ )
Emz
m A
wz 83
<2
EwO
RE O
25>
e Z
OO0
o0
i

'€ BMprz-£2er-X1\1LVAdN D8I 8LOZ\sBuImelq - D\s100@ JAUIA BuIpliS §89-4a\siooq sseiD Buiplis\sul jo 1dad sexal - g\LNINYWYId 2I00UM\SIUBID\Y



TON] SINVLITINSNGOZ aNICTINg "M°d BEL0Z @

RN fnoinsIoay o ivouuag @ — T Ton
¥d g SvXal . 0
L616'655°C18 FoN suold ONIHOHONY INveld ST 0dI/261 8107 01 31vadn| 0z/1z/t] | |=|4|X|2| |
: : N M6
CBEEE 14 OOUIPA OFZ X08 'Oy \Sﬂ&. AVBWISSY 80 1ivd ol = LR
"ONt "SINVLIINSNOD ONIGING N REN 4_
S4004 Ollvd 9NIanNs MEAEIERS
CZIP0LF "T'd SwXaL i w g|¥|2 &
‘3'd WPIWYSS "4 uopukl 1Ag peundedy sjueuinooq 1 LoNaoYd SI2IE(51% &
¢
)
pd :o-oana:tm
&
p
.2
1R 2 ....mw*.ﬁx..mu
%.Mﬁ..oo....\.ﬁ»( nh.q
iﬁw J0 wv;u?
('dAl) | _
DO XYW.LIEFL
| —— T (dAl) .S
B ] | | | 1
— a
& =
o OF
i - =
<
-
/ m
—— o
2 S
= ME > g
(] S Z <
< 0Z O w
T Z 3 =
Qe 2
=
g
©
2o
e
"6 Pt
0
>
o
= o
x
Sa
3 T
5 < =
™ 9) 5 =
N ) A B 5
<C
144
<4 T
| | | l
7
< 7
/ \ \!
[E%]
28084 2 =
O 0OD o o &
= - w o
Q@O o V) =
QxZ < <
na XD w LN
00z9Q <ZS
o QZ o =
ORnaga %= R
z2zwQ fEO
02 5 Do T
< Z O x (O9
Of W~ g 0z0
=%
Li.
@]

¥ 'BMPY2-£2t-X1\ILVAdN D41 8Lo2\sBuImelq - D\si00Q JAUIA Bulpls $89-¥@\si00( sse|s Buipls\sul jo 1daq sexa] - G\LNINVINEId 240oUIM\SIURIDNY




R\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\DR-685 Sliding Viny! Doors\C - Drawings\2018 IBC UPDATE\TX-4323-24.dwg, 5.2

td
2
BILL OF MATERIALS 30 [ HEAD WEATHERSEAL - oy .
TEM | e crrmion ATERIAL 31 | #8X1-1/4" PAN HEAD, QUADREX, SCREW STEEL 22 o BB
# 32 | SASH STOPPER STEEL 5 B8 &
B | 2X FRAMING (3G >= 0.42) WOOD 33 | WEATHERSTRIP - Lt Ly &
C_|1/4" MAX. SHIM SPACE . 34 | FRAME JAMB* PVC gg g.a 32
F | #10X 2" PH WOOD SCREW (1-1/2" MIN, EMB.] STEEL 35 | WEATHERSTRIP - 5F Exg 8O
H | #8x5/8"FH SMS STEEL 39 | HANDLEKIT STEEL 3>o fE
P_|1/4"PFH ELCO OR TW CONCRETE SCREW [1-3/4" MIN. EMB.] STEEL 40 | OPERATING PANEL SIDE STILE* PVC 5 8R; &g
1 | FRAME HEAD* PVC 42 | KEEPER FOR SCREEN - s 252w
2 | #8x2-3/4"FH QUADREX WOOD SCREW STEEL 43 | #4 X 5/8' PAN HEAD QUADREX SCREW STEEL g 3,5 o°
3| WEATHERSTRIP [SCHLEGEL #HF-7522-270) - 44 | #10X 2-1/2" PPH SCREW STEEL £ Baf 3k
4 | HEAD TRACK* PVC 45 | #10X 1-3/4" PPH SCREW STEEL g § ok
5 | STILE & RAIL* PVC 46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL : X é’g
6 | SETTING BLOCK - 47 | SASH COVERING CAP* PVC
7| SILICONE [SIKA 552) SILICONE 48 | LOCK PLUG* PVC °
8 | DURASEAL SPACER SYSTEM - 50 | STILE REINFORCEMENT STEEL o
9 |SHM - 51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL 2,
10 | TANDEM WHEEL STEEL 52 | INTERLOCK STEEL g | 32
11 | ROLLING RAIL STEEL 53 | STILE REINFORCEMENT STEEL S| 2
12 | SILL* PVC 54 | Q-LON WEATHERSTRIP ([SCHLEGEL NO. QEZ 345) - o | 9%
13 | SILL DUST COVER* PVC 55 | WATER BAR STEEL = |14 28
14 | SILL PLUG* PVC 56 | #8X 1" PPH SMS SS . |2 =
15 | SILL WEATHERSEAL - ' = I
17 | LEFT CAP FOR SILL ADAPTER* PVC . 325" ‘ 227 5l & |y Ok
18 | RIGHT CAP FOR SILL ADAPTER* PVC S b |- A . 317 | 3 =
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL ] i) =5 ——TRY g %
20 | OUTSIDE SILL CLADDING STEEL ! ; . . 5
22 | INSECT STOP ; ojjjo o o] 8 =y N 2 o008 3 Lz
23 | SCREEN : o j— ° = |
24 | #8X7/8" PAN HEAD, QUADREX, SCREW STEEL | 0.38" 1
25 | FIXED PANEL ANCHOR BLOCK® PVC = = K b (5)ueRAL )
26 | ANCHOR STRAP STEEL * T INTERLOCK g
27 | SCREW CAP* PVC . - _ gl |2
28 | GLAIING BEAD" PVC S 3 e 8§ 200 | o 2
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE 005 ——l— o |*
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR ' R ——{|=—0.09" w
RIGID PVC EXTRUSIONS", 1 r::st:j 3
=
0.55 — 7/8"THICK . REINFORCEMENT Q
GLASS BITE "1 G/L ASS 5.44 st ' 53 ste < C= NE
T 1/8" ANNEALED ' | 5 N
g L —0.050" SAFLEX®PVB __?WfUTL—} E] ] N J 5
f : S INTERLAYER - & ~|z
= )Y \1/8" ANNEALED [jf(% @F (®) ‘ O\ IBD = 5 ’._' 108 N Q OATE: 7/9/13
\ AIR SPACE } I 9 % T —a sone NTS.
1/8" TEMPERED . b | e 2 . — T
@ DC § :D ‘ 0= D CHK. BY. LFS
? L’W‘ = DRAWING NO.:
@ FRAME SILL 50 ) REINFORCEMENT TX—4324

<:) GLAZING DETAIL < : > FRAME HEAD

Meeting rail

. FRAME JAMB

SHEET 5 ofF 5

© 2013 R.W. BUILDING DONBULTANTS INC.




